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1. [} (sin® + Cosp)d@ =1 A 187

Value of [ (sin@ + Cos@)d® =

@ 0 ®) 1 © 2 d 3

2. % 99 g UF Bt 5 o1 smaeH My #IR e ol o 2 ff, 7@ &1 o 4 . ok S8
3@

Determine the volume of frustum of a right circular cone whose top diameter is 2m, bottom

diameter 4 m and height 3m

@@ Tzm? ®) 6zm? © bBam @d 4zm

3. U A U i B 30 UeW Bl 37 & g Tl 8 | 31, T8 20 TR SHaa ar U Y e
# 2 ofler gu 9 Foraer ur i sxar g | afg gy @1 ara $.25 Wi dex § 3R art &t anra .1 ufd
e 8, N, T 100 R 1R §UGH el B Sa= § gUATK B! e e g grm?

A milk dealer decides to cheat his customer by adding water. Therefore, in a filled milk
container of volume 20 litres, he replaces 2 litres of milk with water. If milk costs him Rs.25

per litre and water cost him Rs. 1 per litre, what is the profit the dealer makes by selling
100such filled milk containers?

(a) Rs. 10,000 (b) Rs. 8,000 (¢) Rs. 4,800 (d) Rs. 2,500

4. F(x)= log (x3-3x2+4x-4) at x= 2 B HH I 7
Value of F(x)= log (x3-3x%2+4x-4) at x=2 is

(a) 0 b 1 (¢ o (d) Indeterminate

TA-03 3 March 2020
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5. fRyepTy 7ol B =g BT AT | 3D T @ﬂ,ﬁﬁﬁméﬁzwuﬁmﬁwnﬁé AT ST § |
R 3 SPUS ¥ ae A & S 9 @ T @ SR ' 5 Tit/&, P T T & URiid 1 disT Hl
¢ | ofe fowm dad 59ﬂ.w%memwm%,ﬁ,wmmﬁmm?

Vikas was having a cup of tea at the side of an empty street. All of a sudden Prashant(thief)
pickpockets Vikas’s wallet and starts running at the uniform speed of 4 m/s. Vikas realises
that he has been pickpocketed after 3 seconds and starts chasing Prashant at uniform speed
of 5 m/s. If Vikas can only run for 59 m after which he gets tired and stops, can Vikas catch

Prashant?

(a)  TEY, 98 URid bl yped 7 1 . S S 2/ No, and he misses Prashant by 1m
(b) & a8 vRIa ®1 59 H. A yse AT & / Yes, he catches Prashant in 59m

© &I, a8 uRid & s g T 2 A, W b S 2/ No, and he misses Prashant by 2m

(d) © 98 uRIid P58 7t A yse Al & / Yes, he catches Prashant in 58m

6. U S 9R Hipe, U o a1 B T G T | i 712 g w0 Q P 9 @ 1 ), 9 g @ g
BT e et o7

A bag contains four white, five red and six blue balls. Three balls are drawn at random.

What is the probability that all of them are red?

(@ 122 ) 3/22 © 2077 @ 291
7. [VSinxdx=y, yPIAFH TG

IJIIZ Sin x dx=y, Find the value of y

(a) 1 b)) 0 () 0.50 d

TA-03 4 March 2020
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10.

11.

TA-03 5 March 2020

YU & BRI B B Ihar B F o FEfed § ¥ 5w gy & S $e ¥ fiemay fawsE
grm?

Neglecting head loss due to friction, which of the following pipe cross section have maximum

discharge

(a) O 2 T, 39 &1 9 / Circle of Dia. 2m
(b) A 3 . UTRd & 9HaTg YS / Equilateral triangle of 3m side
(c) I:I 2 1}, ured & =1 / Square of side 2m

(d) D 2 Mt FerE ok 1 . 9 2 Ht. % THMIGR UTRd darg &1 9Had / Trapezium of 2m height and
1 m and 2 m parallel side lengths

afe 2,/2J2\/E ......... oo:y,?ﬁy#rrrﬁw%? ;

If ‘2 ,‘2 2v2........00 =y . Then find the value of y. 1

(a) 1.73 (b) 141 © 2 d oo

afe; YT Ok gER & e &, A Sk GeF oh U T B 7
If lines perpendicular to each other, the product of their slope is

(@ 0 b) 1 (© -1 d) o

T 9d ¥ yuifad g9 919 Bkl (R F U SME.TH. 456-2000 GRT WA Hidic &1 FAad IS
157
The minimum grade of concrete (RCC) recommended by IS 456-2000 for concrete exposed to

sea water spray is

(@) M25 ®) M30 © M35 @ M40
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12. T SR R U AF R R SR W e T el U SedaR 9iH & e o T ufad foa S §

13.

14.

15.

16.

| T SR W i fadon 8 o e @

A cantilever beam is subjected to uniformly varying load having zero value at free end and
maximum value at fixed end. The deflection of beam at the free end is given by

(a) wL*20EI (b) wL#10EI () wL440El (d) wL430EI

TR T ViR 20 TART, (@) R 10 THAL m%,amwmmm?

If the principal stresses are 20 Mpa (tensile) and 10 Mpa (compressive), then what is the
maximum shear stress?

(a) 30 Mpa _ (b) 5 Mpa (¢ 15 Mpa (d) 20 Mpa

ﬁwwm%mmw@m%ﬂ@nmmw@m?

If the shear force diagram of a simply supported beam is parabolic, then the load on the
beam is

(@) §9FEY Y faRkd @S / Uniformly distributed load

(b) HHAUTW T¥fed @S / Concentrated load at mid span

(c)  HE UM W= fpamefiel amgy i / External moment acting at mid span
(d) Yae = 1 faaika faaka @re / Linearly varying distributed load

@ BR R frad m@ﬁ@?mgﬁwmﬁﬁaﬁaﬁuﬁmmma A ger fopfewe dis &
qI |

The length of the column, fixed at one end and free at other end, is doubled, then the Euler's
Critical load gets '

(@)  memeian s / Halved

() ST E g/ Doubled

(c) TAdD %4 T e / Becomes % of original
() @IS uRddq el / No change

S B T TR WR 3 w1 e HARIR A & S SR ¥ YR TR AT R 52

What is the reaction at support of the propped end of a propped cantilever beam with
concentrated load at the centre?

i oD ap 2B
@ 1 ® 3 © g @ 3

TA-03 6 March 2020
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17. 4 ™ @9 % Tp SRR 51 F SR W fumia 20 fh.Red & Gdied HR R = F feardia

18.

19.

20.

21.

40 .= HR® | 3MeR iR 3R SMYR TR e+ Mgyl &1 Il TIed

A cantilever beam of length 4m has a concentrated load of 20kN acting at the end and
40kN acting at the centre. Find the support reaction and bending moment at the support

(a)  60kN, 240kNm (b) 60kN, 160kNm
(¢  30kN, 200kNm (d 30kN, 160kNm

TP G BT ST TON® TG TR 0N & S & | FHPT AIaE ST T & ?
The Bulk modulus of a material is equal to its shear modulus. Its Poisson’s ratio is

(a) 0.225 () 0.125 (c) 0.355 d 0.5

SifraT ¥ R §t & Tt veer @1 sfisad Sawe H9 i o 82
The maximum area of compression reinforcement in beam, without overlapping is given by

(d-effective depth, D-Overall depth, b-breadth)
(a) 0.04bd (b) 0.04bD () 0.12bd (d) 0.12bD

TS T, 800-2007 GRT G&d Gfthd YR & HRUT MY Ui B IHDHU UHIAT T 19 GG T Al STl
1 8?
The effective slenderness ratio recommended by IS800-2007 for a tension member which is

subjected to a reversal of direct stress due to live loads is

(a) 180 @1 3(f¥HIH / Maximum of 180 (b) 250 T HYHaH / Maximum of 250
(c) 180 @1 gAaq / Minimum of 180 (d) 250 FT FAaH / Minimum of 250

TF g Fre § FeRr TaeieRl 3 R vged < @ siftdad oI 12 A B | e < %t o @
g g?
Max diameter of bar used for helical reinforcement in a circular column is 12 mm. The

diameter of tie bar is

(a) 4mm (b) 6mm (¢) 8mm (d) 10mm

TA-03 7 March 2020
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22.

23.

24.

25.

TG 9% B SIS S A Wigd s se e @ er
The maximum longitudinal pitch allowed in bolted joints of tension member is

(a) diec & A &1 16 TAT Y@l 300 fayrft. <t +f ¥9 81 / 16 times the diameter of bolt or

300 mm whichever is less
(b) e & I BT 32 AT YdT 200 s, < ot @ 2l / 32 times the diameter of bolt or

200 mm whichever is less

() W HeTs &1 16 THAT 3Yal 200 fireft, ot «ft $H 81/ 16 times the thickness of the plate or

200 mm whichever is less

(d) @I $I HITS o7 32 AT 37l 300 fasd, St en Bl / 32 times the thickness of the plate or

300 mm whichever is less

Fed15 T 415 ®I1 87

In Fed15 what does 415 implies?

(a) fy=415 N/mm? (b) fu=415N/mm?
©  fiaoture =415 N/mm? | @) foato = 415 N/mm?

Ryffe % =re wref & R ol i o1 it 721 87

The Bogue’s compound responsible for ultimate strength of cement is

(@ CsS (b) CsS

) CGCsA (d) C4AF

vrorm it 3 S 3 RIT o BT AR SHD L HR Pl %BIA &

For first class brick the water absorption is ————— % of its dry weight
(@) 20% (b) 22.5%

() 25% (d) None

TA-03 8 March 2020
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26. U ¢ %1 YOS W fhed &H el BT TMeT?
Compressive strength of country brick should not be less than
(a) 10 N/mm?2 (b) 7.5 N/mm? (¢) 5 N/mm? (d) 3.5 N/mm?

27. 1. &t NIt Hier F O 2 M, S 9@ o419 S TP WG I BT BT TS AUl 1 7 ?

Moment of Inertia of a hollow circular section with outer dia 2m with wall thickness 1m is
(a) 1.48 m? (b) 1.08 m* (c) 0.74 m* (d) 0.64 m*

98.  STETH. 456-2000 F TR g ISHIRYA el o YSTIHRN  ford SARTH GrIaH a0 e 87
According to IS 456-2000 minimum cover required for steel reinforcement subjected to severe
exposure is
(a) 25mm (b) 30mm l‘(c) 45mm (d) 50mm

29.  afferan ufiEe & ©U A GRS S, S HR & GRIge ST & R0 Wi SFHT e g 8,
FHEAT 67
The strength defined as the maximum stress at which a steel section fails under repeated
application of load
(a)  &ifd 91/ Fatigue limit (b) H‘E[E'Wﬂf / Impact strength
(c) T 9mE / Tensile strength (d) te gmE/ Compressive strength

30. e ¥ Fifée Tod Bl fhud gRI AT O 32

Specific gravity of cement is measured by

(a) AT-WAIT %Ik /Le-chatelier flask (b)  STgehIC 3T [ Vicat Apparatus

(c) Hfam /Sieving (d) 9T YIOTHIAT TU&9 [ Air permeability test

TA-03 9 March 2020
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31, fasE @ 180° a VA B 3 RiY, 3% A WA Trget et o 87
The type of hinge used for fixing a window shutter to swing up to 1800
(a) ¢ &< / Butt hinge (b) forarEl f&%1 / Piano hinge
() uifade & / Parliamentary hinge (@) SwiE gHl/All the above

39,  oRe @ TG WA B THTS 1 &7
The unit of Kinetic viscosity of fluid is

| (@) Nsec/m? (b) cm?sec
() One Dyne (d MPa

33. <her @ IR SUR T I @ mﬁaaﬁmﬁﬁmwmw% | 9fg @ @1 MY R SR

o7 TR T 2, A, o7t TR T P B B} g I e
A rectangular plate is jmmersed in water vertically having breadth B and Height H. If the
top level of plate and water level are same, then the height of centre of pressure from water

level is
(@ 2H3 (b) 3H/A4
(c) 4H/ (d) 3B/2

34,  SgdEmd) 3 SRl BV I B &7

In Venturimeter the divergent angle is
(a) >WARGI S />inlet Angle (b) <WAR@T B/ < inlet Angle
(¢ =VWaRM® ®I0/ =inlet Angle (d) E"eY el / No relationship exists

TA-03 10 March 2020
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35.

36.

37.

38.

TA-03

e urEY &, 10 /A P R A T8 W ol T3 BT SR FieT g1 & o &1 SuId 1 g

In a pipe, water is flowing at the rate of 10 m/s. What is ratio between the entrance loss and

exit loss?

(@ 05 ‘ Mb) 1
(c) 2 d 4

979CTR Sel &\ TEl T Bl 82
The density of water at 27°C is

(a) > lgmlcc (b) < lgm/cc
(c) = lgm/cc (d) ®Is UaY 78l / No relationship exists

Ot B A o ¥ e O T arsdl & Sudm e S el € | v i AT Ul @t gHFiR TU § S
F e S B oIk s & she W 8 arch < B @ e A @ e, U3y ¥ TaR AR P
¥ ot < oI &7 SruTe < B 87

Three identical pipes are used to carry water. The ratio of head loss between the entry and
exit of the pipes, when the pipes are connected in series to the head loss when connected in

parallel is

(@ 1/9 (5) 9
(0 3 @ 13

S TS ST $% W B §, ———— R A

Buoyant force acts at the Centre of Buoyancy which is at the?

(a) fowufUd ga@r Fg® / Centroid of liquid displaced |

() dg ¥ FrafeTa YT &1 $5® / Centroid of the submerged portion of the body
© W ?Fj,% e $1 $gd / Centre of gravity of the entire body

@ dIsHA #5F / At the meta centre of the body

11 March 2020
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39. freemmEs $UE(D) ¢ waﬁ%mumaﬁﬁ%@rwﬁ%w%%qmmmmﬁ
STEar B & i T I B Il §

FRO (3R) : =g ST AT & fda faeRor gl ©

Assertion (A): The movement of two blocks of wood glued together with hot glue requires
greater and greater effort as the glue is drying up.

Reason (R): Viscosity of liquids varies inversely with Temperature.

(a) ‘T d SR Eﬁ’ﬁﬂ'ﬁﬁ% 3R IR T ¥ o ol faaRw 2 / Both A and R are true and R is correct

explanation of A

(b) ‘T 9 IIR’ Eﬁ*ﬁﬂ%ﬂ% 3R IR T %Wﬂﬁﬁmﬂﬁ% / Both A and R are true and R is not

a correct explanation of A.

(c) T el & 3R AR TAd e / A is true and R is wrong

(d) 7 TTed § 8fR ‘IR T8/ A is wrong and R is true

40, PrEriEd § B e wel
Which of the following statements are correct?

1. 99U 3R <§ HYU JEreHH ﬁnﬁnﬂaﬁ%e{mq&%ﬁmeﬂmm%mmﬁon and
pressure drag depend upon the shape and position of immersed body in a flow

g, uﬁwmﬁ@zﬁmﬁﬁm%%ﬁwm%ﬁr,mmwmﬁfIfathin

plate is kept parallel to the direction of flow, then the pressure drag is zero

3. uﬁwmﬁzﬁwmﬁmmm%é‘r,‘aﬁmmfuraﬁ'sﬁm%nfatmnplate

is kept perpendicular to the moving fluid, then friction drag is zero
(1) ®Ia192/1and2only (b) PHad1d3/1and 3 only
() Had233 /2and3only (@ 1,293/1,2and3

41, g3 o o fraeh b Ry o frd TR ) eXars i R
For a high head but low discharge which type of turbine would you recommend?
(a) g ¢ Oee 9/ Multiple Jet Pelton Wheel
(b) Wi exagA / Francis Turbine
(¢)  ®wH cagd / Kaplan turbine
(d) < X/ Turgo turbine

TA-03 12 March 2020
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42, U@ UK TN U BT 3igeye i a1 g 67

The output discharge from a single acting reciprocating pump is

(2) R el & wry AR g 2 / Continuous with constant discharge

(b) WO f3Ysi / Pulsating discharge
amafie U 3 ferfa FeR @9 / Periodically varying Continuous discharge
(@ Y 3R U F SgHd T W 31emid / Depends of the head and rated HP of the pump

(c)

43.  FE-I(REW Y g ATl S G-I (Fga S gfre)d a1y ey ok el Sk IRl
Match List-I (Impurities to be removed from sewage) with List-II (Treatment unit used) and
select the correct answer

Tt List-1 At List-I
A. S8 WaH 9%/ 1. fesfm e/
Large floating matter Trickling filter
B. [RR-TY 3fold 9% / 2. Wi FARBIER/
Settle-able inorganic matter Primary Clarifier
c. Fafad v a5/ 3. PR/
Suspended organic matter Grit chamber
p. faafid i 9%/ 4. W/ Screens
Dissolved organic matter
Codes:
A B C D
@ 3 4 2779
(b) 3 4 1 2
© 4 3 2 1
@@ 4 3 1 2

44, OB U FARAI BT BRI T 57

Temporary hardness of water is due to

(a)
(b)
(©
(d)

TA-03

Yelhe U9 FR1SS / Sulphates and Chlorides

FTae ud arEdrane / Carbonates and bicarbonates
PTae Ud etbe / Carbonates and sulphates

Yelhe U9 gec / Sulphate and nitrates

13

March 2020
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45. U PR srgeared R ffER S

Consider the following impurities in water

(1) CO=

(2) ﬁ&ﬂ—ﬁﬂlﬁﬁ' fAciferd ==g / Finely-divided suspended matter

(3) INTHRD S IRgl/ Disease causing bacteria
(4) 3 &Rar / Excess alkalinity

o e G B 5 SN B g BT el P 1 el 7

The correct sequence of the removal of these impurities in a water treatment plant is

(@ 1,234
(© 1,423

46.  STETE. 10500-1991 ¥ SFTHR 47 ot ¥ Saflne Had qwiA B ifera oo 1 82
The desirable limit of residual free chlorine in drink water as per IS 10500- 1991

(a) 0.3ppm (b) 0.2 ppm

47, G-I G-I Y formed o el e Y

Match List-Iwith List-II and select the correct answer

Codes:

()
(b)
(©
(d)

TA-03

(b) 1,432
@ 41,32

(¢) 0.1ppm (d) Nil

ellList-1 FeATList-11 \
A. 3y @ Yo/ 1. gHH qlel Ud §g ddTe g/
Dead-end system Equal pressure and multiple flow paths
B. s yumet/ 2. R Ud dgferd I S/
Grid system Both economy and reasonably equal pressure
C. Tarvome/ 3. Trqogidar ud TRadl/ Economy and simplicity
Ring System
D. &g/ Radial 4. U@ Rl Zonal distribution
A B C D
3 2 1 4
2 4 1 3
3 1 2 4
2 1 4 3

14 March 2020
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48.

49.

- I (arg TNyt FEl-II §TFeR Tuma)d a1y fiarsd ok g & A1 3 T B8 &1 74T $d gL
e SR IR

Match List-I (Air Pollutants) with List-II (Harmful Effects) and select the correct answer

using the codes given below the list.

HelList-I HelList-II
A. SPM 1.3 gHreifen/
, Blood Haemoglobin
B.NO 2.7/ Vegetation
C.CO 3.3G4 Jueit/Respiratory System
D. SO: 4. 3@ Tl
Building Materials
Codes:
A B C D
@ 3 4 1 2
® 1 2 3 4
©@ 3 2 1 4
@ 1 4 3 2

& aT ufes T 9 F HHE: na = 40% 3R np = 60% WAL § | eazen L7 SUTT BT AT 1 82
Two soil samples A and B have porosities na = 40% and ns = 60% respectively. What is the

ratio of void ratios ea:es?
(a) 2:3 (b) 3:2

(@ 49 d 94

TA-03 15 March 2020
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A

50.

51.

52,

TA-03

=TS FYE() :%ﬁ?ﬁ@ﬂ%ﬁﬁﬂﬁ%ﬁﬁwﬁawwmﬁﬁhmﬁﬂwﬂ?ﬁa

g

HRUN (3R) : THH B TR HeT & IIAT &l TR MUIRG & 3R {efieht JaT Bl SHd &mar quag Hey J

3 3

Assertion (A): The rates of settlement of building structures on sandy soils are faster

compared to those of buildings constructed on clayey soils.

Reason (R): The rate of consolidation is dependent on the permeability of soils and the

permeability of sandy clay is more than that of clayey soil.

(@)

(b)

(©)
(d

‘@ g '3 gl Tgl § 3R ‘IR’ T &1 el faazor 8/ Both A and R are true and R is correct

explanation of A

w G?I'Q'Gﬂ?ﬂﬁ)f%@?\?ﬂ? T &1 Yal faaR0 78T 8 / Both A and R are true and R is not a

correct explanation of A

‘v U5 § 3R 'R AT 8 / A is true and R is wrong
‘T € 3R R TSR/ A is wrong and R is true

R U () 3R TR & i BT Geiy 36 YRR Iy S 27

Relation between void ratio (e) and porosity (n) is given by

(a)

©

ezn—l ®) e=n+1
n n

gl () entl

1-n n-1

FTEEIS IUB BT IUANT ferarent Tyt e & fom far s 82

Casagrande apparatus is used for determination of

(a)
(b)
(c)
(d)

wifeee HHAT / Plastic Limit

%d 91 / Liquid Limit

Tp= M1/ Shrinkage Limit

U‘?I'éﬂﬁ T PS8! / None of the above
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53. U 300% 3fiaRe uNuareh g1 bf [AfSea ok aftea ured o are SruTe m gI?
For a sand having an internal friction of 30°, the ratio of passive to active lateral earth
pressure will be

@ 1 (b) 3 (0 6 @ 9

54.  GE-I (91 F VOR) $ GE-I1 (Suged a) F Ty frensd ok e & A fad T HIET o1 Suh FRd §U
e Sk gAY
Match List-I (Type of soil) with List-II (Suitable foundation) and select the correct answer
using the codes given below the list.

Hell List-1 & List-II

A. a8 Wd ¥ gee 7ar/ 1. ¥ue ia/ Raft foundation
Strong soil in surface layer

B. *{dd & 19 3 e A 9gH & 2. QYadd g/
Y gefel Here TR/ Isolated footing

Weak surface layer followed by rock at
shallow depth below ground

C. TR % 1 50 Hell db AN Gag W H [ 3. 3fdT e 3ifreardy
Ha Har/ End bearing pile
Swelling soil in surface layer extending up to a
few meters below ground level

D. oW [AWART Hdg Jal URd/ 4. 3¢l [AYHEaR/
Weak heterogeneous surface soil layer Under-reamed pile

Codes:

A B C D
(a) 1 4 3 2
(b) 2 3 4 1
(c) 1 3 4 2
(d) 2 4 3 1

55. frEfafed # e safie TR UeR 3 7 87
Which of the following is the most expansive type of soil?
(a) ewge / Laterite () @5?&?% / Black Cotton soil
(¢) &/ Gravel (@ et gar/ Sandy soil
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56. weieR BT U fird TR 3 fR fean < 82

Planimeter is used to measure
(a) &7%d/Area (b) 3T/ Volume
()  ©drs/Length (@ URY/ Perimeter

57. wmﬁr'aﬂﬁuﬁﬂ%o52’Em€wﬁu&nﬁﬁmﬂﬁmﬁ§qﬁ,?ﬁ,%@mmﬁﬂﬁﬂm@m
If “Fore bearing” of a line is S 49° 52’ E (assuming there is no local attraction), the back
bearing of the line will be

(@) S52049E (b) S49°52°E
(c) N 49° 08 E (d) N49 52°W

s P S e 7 A T e R S & o e 7R 3 g ¥

Which one of the following methods of levelling eliminates the error due to curvature and
refraction?

(a) s gAdad / Fly Levelling

(b) 37 Wisc TH UF Wik ¥ 9 3 g o d §U wHaeH/ Levelling by equalizing the
distance of back-sight and foresight

(c) Toda @1 9id / Check levelling
(d) URYE GHAEH / Precise levelling

59. uw fig W g yaga 3R 9T A B §E BT HT —————— BT ©

Angle between true meridian and magnetic meridian at a point is
(2) Turd fGFUrd / True declination () Ha@ig furd / Magnetic declination
(¢) f&u/Dip (d) &%/ Declination

- 60. m%wﬁm%@uﬁmmﬁmmmmw%?
The transverse slope that is provided in road for easy drainage of water is

(a) $= 310 / Super elevation (b) ¥R / Camber
(¢) Uf&de/ Gradient (d) ST Y PIE el / None of the above
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5. gt SEqiE THR & 9A % THH i B T I F Fre i o, IR 7 2 W YR R TAd I & e Ok o
rer e | Rt W % forg e W STereR IR ST e STt W S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. Hagﬁwaﬁz{rﬁﬁaﬂtw%ﬁﬁﬂwgmgmgmgﬁﬁa%mwé,ﬁﬁaﬁxw.m.sﬁam,aﬁa‘\qﬁ
@ T T FET A R A T FE W, Iat-YiER 1 T T8 S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. g@wﬁwmaﬁw%wﬁm%mmﬁmmw%lm@sﬁzqﬁfﬁwﬁl

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. aﬁﬁﬁzmmmmﬁﬁqﬁé,qﬁwﬁaﬁm@rﬁnﬂzmg@wm%@mmlwﬁmﬂﬁmﬁw%wﬁ
& gEe T g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

0. hem % s # (1) P Ry ffen v A (2) T AT, I e P A e wE
forelt oft offeurfy & srvreff 5@ 7 & S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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